

2011 -
: / 3:

	مجزأة		
04	01.5	$: 5 \quad 3^n \quad (1)$	
	0.5	$\cdot 3^{4k+3} \equiv 2[5] \quad 3^{4k+2} \equiv 4[5] \quad 3^{4k+1} \equiv 3[5] \quad 3^{4k} \equiv 1[5]$	
	0.5	$\cdot 3^{2010} \equiv 4[5] \quad 2010 = 4 \times 502 + 2 \quad (2)$	
	0.5	$\cdot 3^{2011} \equiv 2[5] \quad 2011 = 4 \times 502 + 3$	
	01.5	$3 \times 3^{2010} + 3^{2011} + n \equiv 0[5] \quad 3 \times 8^{2010} + 23^{2011} + n \equiv 0[5] \quad (3) \quad (3)$	
	01.5	$\cdot n = 5k + 1 \quad / k \in N \quad n \equiv 1[5] \quad 4 + n \equiv 0[5]$	
06		$\begin{cases} u_1 + u_3 = 12 \\ u_3 + u_4 + u_5 = 30 \end{cases} : \quad u_1 \quad (u_n)$	
	01	$u_2 = \frac{u_1 + u_3}{2} = 6 \quad (1)$	
	01	$\cdot u_4 = 10 \quad 3u_4 = 30$	
	0.75	$\cdot r = 2 \quad u_4 = u_2 + 2r \quad (2)$	
	0.75	$u_1 = 4 \quad u_1 = u_2 - r$	
	0.75	$u_n = u_1 + (n - 1) \cdot r = 2n + 2 : n \quad u_n \quad (3)$	
	0.75	$\cdot n = 15 \quad 2n + 2 = 32 \quad u_n = 32$	
	01	$S = u_1 + u_2 + \dots + u_{15} = \frac{15}{2} (u_1 + u_{15}) = 270 \quad (4)$	
10		$f(x) = 1 + \frac{2}{1-x}$	
	0.5	$\cdot \lim_{x \rightarrow -\infty} f(x) = 1 \quad (1)$	
	0.5	$\cdot \lim_{x \rightarrow +\infty} f(x) = 1$	
	0.5	$\cdot \lim_{x \rightarrow 1^-} f(x) = +\infty$	
	0.5	$\cdot \lim_{x \rightarrow 1^+} f(x) = -\infty$	

0.5

0.5

01

0.5

0.5

01

0.5

0.5

03

:

$$x=1$$

$$y=1$$

$$f'(x) = \frac{2}{(1-x)^2} > 0 \quad (2)$$

$$(0;3) : (c_f) \quad (3)$$

$$(3;0) : (c_f)$$

$$(1-x)^2 = 1 \quad \frac{2}{(1-x)^2} = 2 \quad f'(x) = 2 \quad (4)$$

$$(c_f) \quad x=2 \quad x=0$$

.2

$$y = 2x + 3 : 0 \quad (\Delta) \quad (5)$$

$$y = 2x - 5 : 2 \quad (\Delta')$$

$$(c_f) \quad (\Delta') \quad (\Delta) \quad (6)$$

